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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers

1 9672 + 1000 = 10672 Ek
2 103 + 38 = 141 Ek
3 78 x 1 = 78 1|m:ar|k
4 923 - 9 = 914 Ek
5 318 = 707 - 389 Ek
6 60 <+ 4 = 15 Ek
7 | 18443 + 5713 = 24156 Ek
8 253 = 163 + 90 Ek
9 128 + 8 = 16 Ek
10 | 424 x 9 = 3816 Ek
11 76 x 3 = 228 Ek
12 | 110 x 60 = 6600 Ek
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Year 6 Arithmetic Practice Test Primary
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Answers

13 10 x 208 = 2080 Erk
14 3.003 + 939 = 12393 1|m:ar|k
15 537 + 3 = 179 1|m:ar|k
16 | 65.705 + 49.00 = 114.705 Erk
17 | 88491 - 683 = 816.61 1|m:ar|k
18 | 440735 — 10997 = 429738 1|m:ar|k
19 | 2 + 10 = 14 o
20 63 + 10 = 063 Eark
21 5 - 251 = 249 Erk
22 | 7544 + 4435 = 11979 —
23 21 x 99 = 2079 szk
24 % N 141 _ 151 (or equivalent) 1|m:ar|k
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Answers
25 40% of 8900 = 3560 Eark
26 15 x 43 = 645 Erk
15 3 27 |
27 =6 *t 9 T ag (or equivalent) 1|m:ar|k
28 825 + 33 = 25 szk
29 % + 20 = % (or equivalent) 1|m:ar|k
30 84 x 4171 = 350364 szk
12 4 194 54 |
31 3 70 " 10 = —0 Or 2 70 (or equivalent) 1|m:ar|k
39 | 3744 = 39 = 96 szk
33 87% x 230 = 200.1 gk
34 + x 7 = % or 1 % (or equivalent) 1|m:ar|k
35 | 6105 + 5 = 1221 gk
36 24-8+4 = 48 LJ
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers
1 10992 - 1000 = 9992 1|m:ar|k
2 203 + 69 = 272 1|m:ar|k
3 78 x 1 = 78 1|m:ar|k
4 858 - 9 = 849 1|m:ar|k
5 4 = 089 - 985 1|m:ar|k
6 70 + 5 = 14 1|m:ar|k
V4 33462 + 6258 = 39720 1|m:ar|k
8 | 404 = 374 + 30 Ek
9 | 6 + 4 = 1 =
10 645 x 9 = 5805 1|m:ar|k
11 21 x 3 = 63 1|m:ar|k
12 | 8100 + 90 = 90 1|m:ar|k
Primary Page 1 Primary

95 "l“ti"”s www.primarysolutions.info ﬁ5olutions




Year 6 Arithmetic Practice Test Primary
SSolutions
Answers

13 1000 x 985 = 985000 1|m:ar|k
14 | 8.002 + 518 = 13.182 1|m:ar|k
15 125 =+ 3 = 375 1|m:ar|k
16 | 58.661 + 90.30 = 148.961 1|m:ar|k
17 | 14517 - 205 = 124.67 1|m:ar|k
18 | 892722 - 12999 = 879723 1|m:ar|k
19 6 + 40 = 76 Eark
20 6.8 =+ 1000 = 0.0068 1|m:ar|k
21 5 - 294 = 206 1|m:ar|k
22 9736 — 6550 = 3186 —
23 48 x 95 = 4560 ZES
24 % + 23 = é (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test
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Answers
25 20% of 3600 = 720 1|m:ar|k
20 13 x 25 = 325 1|m:ar|k
14 4 22 6 .
27 —6 * 8 = 16 ©or 1735 (orequivalent) 1|m:ar|k
28 990 =+ 33 = 30 2%[5
29 % + 20 = % (or equivalent) 1|m:ar|k
30 41 x 8020 = 328820 ZES
22 5 79 7 :
31 354 - &§ = 54~ Or 35z (orequivalent) 1|m:ar|k
32 3298 + 34 = 97 2%[5
33 | 55% x 350 = 1925 LJ
34 1 X 20 = 20 or 4 (or equivalent) L
5 5 1 mark
35 | 12798 =+ 9 = 1422 1|m:ar|k
36 48 +42 + 6 = 50 1|m:ar|k
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers

1 912 + 100 = 1012 Ek
2 | 802 + 65 = 867 Ek
3 78 x 1 = 78 1|m:ar|k
4 155 + 9 = 164 1|m:ar|k
5 | 849 = 875 - 26 Ek
6 42 + 3 = 14 1|m:ar|k
7 | 33784 + 3623 = 37407 Ek
8 | 829 = 779 + 50 Ek
9 112 + 8 = 14 1|m:ar|k
10 | 669 x 7 = 4683 Ek
11 76 X 3 = 228 1|m:ar|k
12 5500 =+ 110 = 50 1|m:ar|k
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Year 6 Arithmetic Practice Test Primary
SSolutions
Answers

13 1000 x 467 = 467000 1|m:ar|k
14 | 7.004 + 429 = 11.294 1|m:ar|k
15 17256 + 5 = 345 1|m:ar|k
16 | 19.795 + 34.80 = 54.595 1|m:ar|k
17 | 29880 - 726 = 226.20 1|m:ar|k
18 | 599294 - 16997 = 582297 1|m:ar|k
19| 3 + 20 = 29 -
20 94 + 1000 = 0.094 1|m:ar|k
21 5 - 342 = 158 1|m:ar|k
22 3053 - 2188 = 865  mark
23 35 x 60 = 2100 ZEL
24 % + 150 = 170 (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

ﬁg;:fllztﬂi’ls
Answers
25 20% of 5200 = 1040 Erk
26 18 x 83 = 1494 Erk
12 3 21 6 |
27 R 5~ or 1 15 (or equivalent) 1|m:ar|k
28 | 1458 + 27 = 54 szk
29 % + 19 = % (or equivalent) 1|m:ar|k
30 18 x 8873 = 159714 Zka
4 15 79 31 |
31 192 + 48 = g Or 15 (orequivalent) 1|m:ar|k
32 | 2816 =+ 32 = 88 szk
33 | 42% x 730 = 3066 gk
34 —121 X 24 = —411? or 4 1;41 (or equivalent) 1|m:ar|k
35 | 7785 + 5 = 1557 Ek
36 3-18x10 = -177 gk
vimas Page 3 vimas
gg "l“a‘;{“ www.primarjsolutions.info ﬁgolutio‘{as




Year 6 Arithmetic Practice Test )
5Solutions
Name:

y ammm—N

1089 - 100 = !
308 + 82 - !
B ox 1 - !

E rimavy Page 1 E vimavy
5 olutio ns www.primarysolutions.info 5 "l“t“’”s



[ ] = 231 + 710

80 + 5 =

E fl}“ﬂf Page 2 E l‘l”lﬂf
"t“tlons www.primarysolutions.info 501“6“’”5



23986 + 7729 =

[ 1 = 701 - 90

105 + 7 =

E l‘llﬂﬂf Page 3 E l‘llﬂﬂf
5 Ol“ao ns www.primarysolutions.info 5olu£wm



918 x 5

98 x 6 =

5500 = 110 =

E l‘llﬂﬂf Page 4 E l‘llﬂﬂf
5 Ol“ao ns www.primarysolutions.info 5olutwm



10 x 355

6.006 + 6.66 =

960 + 8 =

E l‘llﬂﬂf Page 5 E l‘llﬂﬂf
5 Ol“ao ns www.primarysolutions.info 5olu£wm



94760 + 30.27 =

611.87 - 86.0 =

585256 — 14997

E l‘llﬂﬂf Page 6 E l‘llﬂﬂf
5 Ol“ao ns www.primarysolutions.info 5olu£wm



2
11 + 30 =

38 =+ 100 =

7 - 251 =

E l‘llﬂﬂf Page 7 E l‘llﬂﬂf
5 Ol“ao ns www.primarysolutions.info 5olutwm



9472 +[  ]= 10833

41 x 23 =

O®

E’pt‘liﬂﬂt‘ Page 8

olutions www.primarysolutions.info

E?’

vimavy
oluéwns



30% of 5900 =

15 x 7.2 =
3 19
7 " 56

E’])ﬂmm' Page 9 E’])ﬂmm'

olutions www.primarysolutions.info olutions



792 + 33

6 -
—5— 18 =
95 x 1116 =

E’])ﬂmm' Page 10 E’])ﬂmm'

olutions www.primarysolutions.info olutions



+ 23

4 30

o|w

1836 + 36 =

27% x 690 =

E’])ﬂmm' Page 11 E’])ﬂmm'

olutions www.primarysolutions.info olutions



24-12+3

!
!

Total:

E’])ﬂmm' Page 12 E’])ﬂmm'

olutions www.primarysolutions.info olutions



Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers
1 1089 - 100 = 989 1|m:ar|k
2 308 + 82 = 390 1|m:ar|k
3 78 x 1 = 78 1|m:ar|k
4 991 - 9 = 982 1|m:ar|k
5 941 = 231 + 710 1|m:ar|k
6 80 + 5 = 16 1|m:ar|k
V4 23986 + 7729 = 31715 1|m:ar|k
8 611 = 701 - 90 1|m:ar|k
9 105 + 7 = 15 1|m:ar|k
10 918 x 5 = 4590 1|m:ar|k
11 93 x 6 = 558 1|m:ar|k
12 5500 + 110 = 30 1|m:ar|k
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Year 6 Arithmetic Practice Test Primary

SSolutions
Answers
13 10 x 355 = 3550 1|m:ar|k
14 | 6.005 + 6.66 = 12665 1|m:ar|k
15 960 + 8 = 120 1|m:ar|k
16 | 94.760 + 30.27 = 125.030 1|m:ar|k
17 | 61187 - 86.0 = 52587 1|m:ar|k
18 | 585256 - 14997 = 570259 1|m:ar|k
19 | 11° + 30 = 151 L
20 38 + 100 = 0.38 1|m:ar|k
21 7 — 251 = 449 1|m:ar|k
22 9472 + 1361 = 10833 —
23 41 x 23 = 943 ZES
24 % + g = 8 or 1 (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

ﬁg;:fllztﬂi’ls
Answers
25 30% of 5900 = 1770 1|m:ar|k
20 15 x 72 = 108 1|m:ar|k
3 19 43 :
27 —— + g = =6 (or equivalent) 1|m:ar|k
28 792 =+ 33 = 24 25@
29 % + 18 = % (or equivalent) 1|m:ar|k
30 95 x 1116 = 106020 ZES
3 23 158 8 :
31 4 = * %0 = 30 Of 5 30 (or equivalent) 1|m:ar|k
32 1836 =+ 36 = 51 25@
33 27% x 690 = 186.3 1|m:ar|k
34 % x 19 = % or 5 1—21 (or equivalent) 1|m:ar|k
35 | 6315 + 5 = 1263 Ek
30 24 -12+3 = 96 1|m:ar|k
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers
1 9512 + 1000 = 10512 1|m:ar|k
2 206 + 59 = 265 1|m:ar|k
3| s - 1 o= 7 =
4 392 + 9 = 401 1|m:ar|k
5 412 = 874 - 462 1|m:ar|k
6 64 + 4 = 16 1|m:ar|k
V4 27066 + 8958 = 36024 1|m:ar|k
8 193 = 183 + 10 1|m:ar|k
9 144 + 9 = 16 1|m:ar|k
10 791 X 5 = 3955 1|m:ar|k
11 72 X 3 = 216 1|m:ar|k
12 3200 + 80 = 40 1|m:ar|k
Primary Page 1 Primary

95 "l“ti"”s www.primarysolutions.info ﬁ5olutions




Year 6 Arithmetic Practice Test Primary
SSolutions
Answers

13 1000 x 16 = 16000 1|m:ar|k
14 | 8007 + 785 = 15857 1|m:ar|k
15| 315 =+ 3 = 105 1|m:ar|k
16 | 86.562 + 77.08 = 163.642 1|m:ar|k
17 | 584.46 - 552 = 529.26 1|m:ar|k
18 | 670709 - 10999 = 659710 1|m:ar|k
19 O + 10 = 91 LJ
20 04 + 100 = 0.004 1|m:ar|k
21 5 — 251 = 249 1|m:ar|k
22 4254 + 2668 = 6922 —
23 37 x 52 = 1924 ZES
24 % + 181 = 1? or 1 1;41 (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

ﬁg;:fllztﬂi’ls
Answers
25 20% of 4100 = 820 1|m:ar|k
20 19 x 96 = 1824 1|m:ar|k
19 2 37 :
27 o t g = 75 (or equivalent) 1|m:ar|k
28 | 1350 + 25 = 54 L)
29 % + 7 = % (or equivalent) 1|m:ar|k
30 70 x 6160 = 431200 ZES
1 6 253 37 :
31 375 + 75 = “5  or 335 (orequivalent) 1|m:ar|k
32 880 =+ 22 = 40 2%[5
33 40% x 320 = 128 1|m:ar|k
34 % x 19 = 3—38 or 12 % (or equivalent) 1|m:ar|k
35 | 11742 =+ 6 = 19.57 1|m:ar|k
36 12 - 11 x 11 = -109 1|m:ar|k
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers

1 906 + 100 = 1006 1|m:ar|k
2 | 309 + 61 = 370 Ek
3 78 x 1 = 78 1|m:ar|k
4 599 - 9 = 590 1|m:ar|k
5 | 507 = 951 — 444 4
6 | 56 <+ 4 = 14 =
V4 81718 + 4261 = 85979 1|m:ar|k
8 | 684 = 714 - 30 Ek
9 64 + 4 = 16 Ek
10 807 X 9 = 7263 1|m:ar|k
11 18 x 3 = o4 1|m:ar|k
12 4200 =+ 60 = 70 1|m:ar|k
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Year 6 Arithmetic Practice Test Primary
SSolutions
Answers

13 1000 x 965 = 965000 1|m:ar|k
14 | 1.008 + 7.72 = 8.728 1|m:ar|k
15 | 843 <+ 3 = 281 1mDark
16 | 41.375 + 56.58 = 97.955 1|m:ar|k
17 | 968.44 - 579 = 910.54 1|m:ar|k
18 | 592737 - 12998 = 579739 1|m:ar|k
19 62 + 50 = 86 1|m:ar|k
20 6.8 + 1000 = 0.0068 1|m:ar|k
21 5 - 167 = 333 1|m:ar|k
22 9816 + 4995 = 14811 T mark
23 25 x 45 = 1125 ZEL
24 % + 8 = 8 (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

ﬁg;:fllztﬂi’ls
Answers
25 40%  of 1600 = 640 1|m:ar|k
26 13 x 8.0 = 104 1|m:ar|k
27 :133 + % - % or 1 (or equivalent) 1|m:ar|k
28 1034 =+ 22 = 47 25@
2 2 i
29 E - 17 = 187 (or equivalent) 1|m:ar|k
30 61 x 1922 = 117242 ZES
24 1 156 28 i
31 4 - + Yy = 35 Or 4 32 (or equivalent) 1|m:ar|k
32 1872 + 36 = 52 Zka
33 82% x 220 = 1804 1|m:ar|k
34 —g x 18 = 5—54 or 10 % (or equivalent) 1|m:ar|k
35 | 4560 + 3 = 152 1|m:ar|k
36 100+11x13 = 153 1|m:ar|k
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Year 6 Arithmetic Practice Test )
5Solutions
Name:

y ammm—N
1051 - 100 = !
02 + 70 - !
: : !
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[ ] = 180 + 424

42 + 3 =
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15882 + 4884 =

[ 1 = 660 + 50

70 + 5 =
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252 x 6

68 x 3 =

80 x 60 =
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10 x 892

2004 + 121 =

90 =+ 6 =
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27600 + 5453 =

879.25 - 883 =

892206 - 8999 =

E l‘llﬂﬂf Page 6 E l‘llﬂﬂf
5 Ol“ao ns www.primarysolutions.info 5olu£wm



4 + 50 =
42+ 1000 =
9 - 288 =
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[ ]- 1326 = 5497

9% x 37 =
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oW
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30% of 5800 =

17 x 54 =
3 12
6 42
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900 =+ 25

2 _
3 [
22 x 9572 =
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2% 36
2508 + 33 =
55% x 920 =
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12

!
!

6-12x8 =

Total:
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Year 6 Arithmetic Practice Test Drimary

SSolutions

Answers

1 1051 100 = 951 gk
2 602 70 = 672 gk
3 | s ro= 7 =
4 311 9 = 302 gk
5 604 180 + 424 Ek
5) 42 3 = 14 1|m:ar|k
7 | 15882 4884 = 20766 Ek
8 710 660 + 50 gk
9 70 5 = 14 1|m:ar|k
10 | 252 6 = 1512 gk
11 68 3 = 204 gk
12 80 60 = 4800 Ek
L, oA Lo




Year 6 Arithmetic Practice Test Primary

SSolutions
Answers
13 10 x 892 = 8920 1|m:ar|k
14 | 2004 + 121 = 3214 1|m:ar|k
15| 990 =+ 6 = 165 1mDark
16 | 27.600 + 54.53 = 82.130 1|m:ar|k
17 | 879.25 - 88.3 = 790.95 1|m:ar|k
18 | 892206 - 8999 = 883207 1|m:ar|k
19 42 + 580 = 66 1|m:ar|k
20 42 + 1000 = 0.042 1|m:ar|k
21 9 - 288 = 6.12 1|m:ar|k
22 6823 — 1326 = 5497 T mark
23 9% x 37 = 3552 ZES
24 % + g = g or 1 (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

A ﬁg;:fllztﬂi’ls
nswers

25 30% of 5800 = 1740 1|m:ar|k
20 17 x 54 = 918 1|m:ar|k
3 12 _ 33 : [ |
27 % * 13 = 12 (or equivalent) | i
28 900 = 25 = 36 25@
2 . - 2 - [ ]
29 3 : 7 = 5] (or equivalent) b—
30 22 x 9572 = 210584 ZES
3 .24 _ 69 33 - ||
31 1 5t 36 = 36 or 1 36 (or equivalent) b—
32 2508 + 33 = 76 Zka
33 55% X 920 = 506 1|m:ar|k
6 _ 48 - [
34 15 X 8 = 19 or 4 (or equivalent) b—
35 79.40 + 4 = 19.85 1|m:ar|k
36 6-12x8 = -90 1|m:ar|k
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Year 6 Arithmetic Practice Test )
5Solutions
Name:

y ammm—N
9635 + 1000 = !
w09 + 57 - !
: : !
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392 - 9

[ 1 = 661 + 795

42 + 3 =
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86619 + 9569 =

[ 1 = 518 + 10

112 + 8
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493 x 4

33 x 8 =

8100 =+ 90 =
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1000 x 718

2003 + 474 =

4320 = 9 =
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39.814 + 4137 =

890.70 - 96.0 =

402726 - 13999
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2
10 + 50 =

7 - 323 =
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[ ]+ 1405 = 6699

35 x 21 =
5 9
T T
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30% of 9800 =

17 x 56 =
7 8
s " 16
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819 + 21

9 _
o T 16 =
95 x 9744 =
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18 9

3% * 710
1360 + 34 =
68% x 400 =
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32-20+ 4

!
!

Total:
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers

1 9635 + 1000 = 10635 1|m:ar|k
2 609 + 57 = 666 1|m:ar|k
3| ® - 1 - 1 =
4 392 - 9 = 383 1|m:ar|k
5 1456 = 661 + 795 1|m:ar|k
6 42 + 3 = 14 1|m:ar|k
V4 86619 + 9569 = 96188 1|m:ar|k
8 528 = 518 + 10 1|m:ar|k
9 112 + 8 = 14 1|m:ar|k
10 493 x 4 = 1972 1|m:ar|k
11 33 x 8 = 264 1|m:ar|k
12 8100 + 90 = 90 1|m:ar|k
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Year 6 Arithmetic Practice Test Primary
SSolutions
Answers

13 | 1000 x 718 = 718000 Eark
14 | 2003 + 474 = 6.743 Erk
15 | 4320 + 9 = 480 1mDark
16 | 39.814 + 41.37 = 81.184 1|m:ar|k
17 | 890.70 - 96.0 = 794.70 1|m:ar|k
18 | 402726 - 13999 = 388727 1|m:ar|k
19 | 10 + 5 = 150 Eark
20 89 + 10 = 0.89 Eark
21 7 - 323 = 377 1mDark
22 | 5204 + 1405 = 6699 -
23 35 x 21 = 735 Zka
24 % . 190 _ ?Ig or 1 1—40 (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

ﬁg;:fllztﬂi’ls
Answers
25 30% of 9800 = 2940 1|m:ar|k
20 17 x 56 = 952 1|m:ar|k
7 8 22 6 -
27 —5 * g ° R 1 16 (or equivalent) 1|m:ar|k
28 819 =+ 21 = 39 25@
9 9 i
29 —g- * 16 = 60 (or equivalent) 1|m:ar|k
30 95 x 9744 = 925680 ZES
18 9 213 13 -
31 3 50 * 10 = 5o or 4 50 (or equivalent) 1|m:ar|k
32 1360 =+ 34 = 40 25@
33 68% x 400 = 272 1|m:ar|k
34 % x 20 = 8—50 or 16 (or equivalent) 1|m:ar|k
35 7290 =+ 6 = 1215 1|m:ar|k
36 32-20+4 = 160 1|m:ar|k
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Year 6 Arithmetic Practice Test )
5Solutions
Name:

y ammm—N

10907 - 1000 =

508 + 68 =

NN O
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475 - 9 =

[ 1 = 475 + 392
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41236 + 4944 =

[ ] = 847 - 80

% + 6 =
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415 x 3

97 x 8 =

30 x 60 =
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10 x 816

2005 + 9.82 =

1644 =+ 4 =
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88.698 + 79.23 =

599.63 - 758 =

612155 - 13997
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12 + 50 =

2 + 100 =

7 - 142 =
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[ - 7423 = 2347

81 x 89 =
3 7
12 " 2 T
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20% of 5800 =

15 x 36 =
8 6
11" o T
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1404 + 26 =

7 -
—5— 13 =
64 x 3151 =
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30 7
‘3%t 9
1221 + 33 =
38% x 810 =
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1 -

: : !
12208 + 8 - !

2943 - !

Total:
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers
1 10907 - 1000 = 9907 1|m:ar|k
2 508 + 68 = 576 1|m:ar|k
3] s - 1 - 7 o
4 | 475 - 9 = 466 Ek
5 867 = 475 + 392 1|m:ar|k
6 64 + 4 = 16 1|m:ar|k
7 41236 + 4944 = 46180 1|m:ar|k
8 767 = 847 - 80 1|m:ar|k
9 96 + 6 = 16 1|m:ar|k
10 415 X 3 = 1245 1|m:ar|k
11 97 X 8 = 776 1|m:ar|k
12 30 x 60 = 1800 1|m:ar|k
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Year 6 Arithmetic Practice Test Primary

SSolutions
Answers
13 10 x 816 = 8160 1|m:ar|k
14 | 2.005 + 982 = 11.825 1|m:ar|k
15 1644 =+ 4 = 411 1|m:ar|k
16 | 88.698 + 79.23 = 167.928 1|m:ar|k
17 | 599.63 - 758 = 523.83 1|m:ar|k
18 | 612155 - 13997 = 598158 1|m:ar|k
19 122 + 50 = 194 1|m:ar|k
20 2 =+ 100 = 0.02 1|m:ar|k
21 7 — 142 = 558 1|m:ar|k
22 9770 — 7423 = 2347 —
23 81 x 89 = 7209 ZEL
24 % + 172 = 1(2) (or equivalent) 1|m:ar|k
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Year 6 Arithmetic Practice Test

ﬁg;:fllztﬂi’ls
Answers
25 20% of 5800 = 1160 Erk
26 15 x 36 = 54 Eark
27 % + % = % or 1 (or equivalent) 1|m:ar|k
28 | 1404 -+ 26 = 54 Zka
29 % + 13 = % (or equivalent) 1|m:ar|k
30 64 x 3151 = 201664 Zka
30 7 202 22 |

31 436+ = T35 or 535 (orequivalent) 1|m:ar|k
39 | 1221 =+ 33 = 37 Zka
33 | 38% x 810 = 307.8 Ek
34 - X 25 = 25 or 5 (or equivalent) L

5 5 1 mark
35 | 12208 = 8 = 1526 Ek
36 24+9+3 = 27 1|m:ar|k
Primary Page 3 Primary
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Year 6 Arithmetic Practice Test )
5Solutions
Name:

y ammm—N

9322 + 1000 = !
%07 + 80 - !
B ox 1 - !

E rimavy Page 1 E vimavy
5 olutio ns www.primarysolutions.info 5 "l“t“’”s



303 + 9

] = 731 + 802

80 + 5 =
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83138 + 6946 =

[ ] = 236 - 30

48 + 3 =
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224 x 4

47 x 8 =

7200 = 60 =
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10 x 374

5.007 + 1.86 =

1980 =+ 9 =
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84.560 + 6252 =

25595 - 88.8 =

499623 - 9997 =
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5 + 40 =
91 + 100 =
6 - 222 =
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8774 +[  ]= 15358

74 x 27 =
7 2
T T
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40% of 1200 =

19 x 86 =
30 3
56 ' 8

E’])ﬂmm' Page 9 E’])ﬂmm'

olutions www.primarysolutions.info olutions



1496 + 34 =

4 -
11 13 =
39 x 6348 =
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186 ~ 11
3420 + 38 =
50% x 110 =
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4X : !
10675 + 7 - !

6-12x19 = !

Total:
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Year 6 Arithmetic Practice Test Drimary

SSolutions
Answers
1 9322 + 1000 = 10322 1|m:ar|k
2 907 + 80 = 987 1|m:ar|k
3 78 x 1 = 78 1|m:ar|k
4 303 + 9 = 312 1|m:ar|k
5 1533 = 731 + 802 1|m:ar|k
6 80 + S5 = 16 1|m:ar|k
V4 83138 + 6946 = 90084 1|m:ar|k
8 206 = 236 - 30 1|m:ar|k
9 48 + 3 = 16 1|m:ar|k
10 224 X 4 = 896 1|m:ar|k
11 47 X 8 = 376 1|m:ar|k
12 7200 = 60 = 120 1|m:ar|k
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Year 6 Arithmetic Practice Test Primary

SSolutions
Answers
13 10 x 374 = 3740 1|m:ar|k
14 | 5007 + 186 = 6.867 1|m:ar|k
15 1980 + 9 = 220 1|m:ar|k
16 | 84.560 + 62.52 = 147.080 1|m:ar|k
17 | 25595 - 88.8 = 167.15 1|m:ar|k
18 | 499623 - 9997 = 489626 1|m:ar|k
19 | 5 + 40 = 65 o
20 91 =+ 100 = 0.091 1|m:ar|k
21 6 - 222 = 378 1|m:ar|k
22 8774 + 6584 = 15358 —
23 74 x 27 = 1998 ZEL
24 % + 120 = 190 (or equivalent) 1|m:ar|k
Primary Page 2 Primary

95 "l“ti"”s www.primarysolutions.info ﬁ5olutions



Year 6 Arithmetic Practice Test

A ﬁg;:fllztﬂi’ls
nswers

25 40%  of 1200 = 480 1|m:ar|k
206 19 x 86 = 1634 1|m:ar|k
30 3 _ 51 i ]
27 55 5 = 55 (or equivalent) —
28 1496 =+ 34 = 44 25@
4 - _4 i |
29 = : 13 = 43 (or equivalent) b—
30 39 x 6348 = 247572 ZES
49 9 _ 61 - L
31 166 - 11 = 66 (or equivalent) |l
32 3420 =+ 38 = 90 25@
33 50% x 110 = 95 1|m:ar|k
1 a 14 2 ; ||
34 2 X 14 = 4 or 3 4 (or equivalent) —
35 | 106.75 =+ 7 = 158.25 1|m:ar|k
36 6-12x19 = 222 1|m:ar|k
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